» A, p L ‘@ rrn = = ‘5,.3‘—
TR { \ : ‘ﬁao. 450,3
\“\ N Narutsky Ir. s.ﬁf’/atSkd R 501 . \ g :gg: f'_J{/
. \ \ p — F; L ‘ - }
- il 10 bt s 5 Hrachoptélski) r. 1149
ce { ‘ W Prelatsky r. : : y
. ) - (Novy) : : ﬂg Snor&k‘) Velky
467,2 13 \ Dl ) ' ,\‘./ 150 d0z4 - N mdvesni
é,uf."”. _ ‘ .- D i o v \ Kojakawce E J Y qe742iT /N .
,d;y 46'8 N ""'* \ \ " /F {rachovi Ibf(‘ '
A "5 ol ohoF [ LR
. Pt Jesenskg}g;.‘
by VR 465
AA , o \‘ “( 23 Y J N L
g RS f :
/ K T\ " ‘ >
1\ p Lh[,],,tgy 9 87,1 Na dilech _: ¢
4 $74,65 ™y 476,3
(e ‘”41503\ /Q/
A 40 triememer Viachnovicky [ A

2,34
Slepi fnk —)‘t_ Ts A3
pif l _ m,o , 25V|achn0vme Lmn e

[ f oo q - "-a’, \ Nowg li
dubech TF__ _-Pmboj! / : Do O : (";::'ip’l
\ 485,60 ‘, . e y ‘ ; : K!a&émf
l.‘ e 2 8"’"\ jl_?' fl" a | ., t / -"-. /' : ¢ Stru f’

?(”L T A m}é fka : ' / \/ / ANE o’s{"p-a; 0.8 -\__1_2
\ w4 Y 15 a‘k v / { P { 1.0 1514 _
g0~ ) B L k / g |2:ﬁ§ 477 %
g B 1.0 ', A WY louckdch /515 A r cochelka !'._ i
& - — g & j ~ % H
"Prikops 4 \Faiitel P g Yl o N
','g:‘f/'l‘ﬁ.UBUKA,BA 0rova : / :
P ':’4‘76‘ & *
chovsky r,

o7, R

UL gy Bemlicha
1.9 Horni-

-4 -Rohoiny

D ffﬂ”/“ < 7 ‘|:t g3

LA0h: Vicinee ™, \ |\ B =

Xz b."’.".f' )
ﬂ- 45;”3, Na astzﬁvce

) - Socy iV ‘,'..'"-" ,*5{ ff(hdf g 3,632
RN 200,830 f

ﬂt.“. G

o Smrc‘ek

URE‘ZdbU/#"‘?’TT“bT‘P> W A 3
e : RS N
\ X
X p: | Hadlif ATerezm
. o+ PRE E 1 0 q B4 _olifi
‘ |
7 aRobotske;gﬁIS:;— 4560.' ! gﬁgm )ln l?\,‘ TN
Iur\kl v

CHOPAV Tfebonska panev

—— -




